30kmd—X
10km3d—X

30kmad—2X
154 0R8F —

INEESE i
600mM<SLEBEESE
20kmithsz

/R#FEE‘IZ/& —

N\
\
fEE% ’EE%
\iP (B" \_ o

L—A
IFIRUL .\ NERE EPASL
e =

J0kmL—2A
OB
858 A
78.6
‘ | EmasEa  wEms AV

AY—b+ T4 Zv Y aEBEAR

30kmDBREFEIRA
BEREYFR

30kmoas E T

10kmDERZEFEIRAR
BERAEYFR

10kmoas 25 E 53 s

FtahrhREERE A2 R IAD
Boige e

@
Hie

2 H
O, .
o

(10)
@ TARAE

e oy

L N1 2

= %mm o= 9

o—J/»

I-o
ol

o
THBEMER

10km - 30km®DER
BEFEKFT

30kmODEREFEIRFR

BEEEZE FithX
BEEmEYR

T4=wY (¥4]
e

INEH o
hE & om

]
% B FYYEES— S H— _
25kmiﬂ, =1

1E E@

10kmaoz  9:30
30kma=s 11:30

" REENT B3
<5 s S =

)

254 0R3F3
A J4=wva

e IJq=

L—2Z
YIEL
e

wda EREEL

: 42 5 TU_TEﬁE*ﬁ
L fiﬁig%;liﬂ.l (BT EHERE)

(LDFVFE)

7')—) &R
15:30.’&2? ;

10kmiff ¢)EL =
31.0—

90.0m

BB E ={E285.8m (30km7 1= v 1 5% EiE)

B g T Y Y — | 700




